
なまえ

かけざん ２桁×１桁 くりあがりあり

６ ４

× ３

① × ＝かける

② × ＝

３ ５

× ３

８ ２

× ５

たす ② ＋ ＝

かける

① × ＝かける

② × ＝

たす ② ＋ ＝

かける

① × ＝かける

② × ＝

たす ② ＋ ＝

かける



なまえ

かけざん ２桁×１桁 くりあがりあり

６ ４

× ６

① × ＝かける

② × ＝

３ ７

× ５

８ ７

× ４

たす ② ＋ ＝

かける

① × ＝かける

② × ＝

たす ② ＋ ＝

かける

① × ＝かける

② × ＝

たす ② ＋ ＝

かける



なまえ

かけざん ２桁×１桁 くりあがりあり

３ ５

× ７

① × ＝かける

② × ＝

５ ７

× ２

２ ３

× ８

たす ② ＋ ＝

かける

① × ＝かける

② × ＝

たす ② ＋ ＝

かける

① × ＝かける

② × ＝

たす ② ＋ ＝

かける



なまえ

かけざん ２桁×１桁 くりあがりあり

３ ２

× ９

① × ＝かける

② × ＝

６ ２

× ８

５ ４

× ４

たす ② ＋ ＝

かける

① × ＝かける

② × ＝

たす ② ＋ ＝

かける

① × ＝かける

② × ＝

たす ② ＋ ＝

かける



なまえ

かけざん ２桁×１桁 くりあがりあり

７ ５

× ６

① × ＝かける

② × ＝

４ ７

× ３

５ ９

× ２

たす ② ＋ ＝

かける

① × ＝かける

② × ＝

たす ② ＋ ＝

かける

① × ＝かける

② × ＝

たす ② ＋ ＝

かける


